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(2) sin(@ + B) = sina cosB + cosa sinB
+) sin(@ — B) = sina cosB — cosa SinB
sin(@ + B) + sin(@ — B) = 2 sina cosB
A+B s A-B

C.SINA+SINB = 2 sin 5 co >
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(2) sin(@ + B) = sina cosB + cosa SingB
—) sin(@ —B) = sina cosB — cosa sinB
sin(@ + B) — sin(@ — B) = 2cosa sinB

A+B i, A-B

.. SInNA=sinB = 2 cos > Si 5
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3) CoSsg + B) = cosa cOSB — sina Sing
+) cosg — ) = coSa CoSB + cosa SinB
Cosg + B) + cosf — B) = 2 cosa COSB

A+B .,cA=B

.. COSA+cosB = 2 cos 5 co 5
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4) COS( + 8) = coSa COSB — sina Sing
—) cosg@ — B) = CoSa COSB + cosa Sing
cosg + B) — cosg — B) = —2sina sin

A+B  ,A-B

.. COSA—Cc0SB = -2 sin 5 Si 5
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3 A+B=2a A-B=28
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